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Definition: A Transportation Asset
Management Plan (TAMP) provides a
broad view of the assets for which an
agency Is responsible, the cost of those
assets, and an approach to funding
Infrastructure condition over a 10 year
period.




Components of TAMP

. Listing of pavement and bridge assets
and their condition.

. Gap analysis including both traditional
and non-traditional gaps.

. System level life cycle cost analysis.
. Risk analysis
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Components of TAMP (continued)

5. 10-year Financial Plan
6. Funding Approach
7. Future TAMP activities.
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Listing of Assets and Their Condition

A Used PMS to get current inventory

A NHS is required, but included non-NHS
roads as well.

A In addition to PMS, also used data from
Inventory and Mapping Unit.
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Normal Interstate 5,983.2
Business Interstate 272.1
US Route 10,936.6
NC Route 3,476.8
Secondary Route 932.1
Ramp 10.1
Non-System 165.4
Other State Agency 0.0
Federal 17.9

Total 21,794.2
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Interstate Assets and Conditions

4,368.943 2,954.394 1,410.935 3.614 67.62 32.29

1,394.270 686.004 686.721 21.545 49.20 4925 155
82.416 41.402 41.014 0.000 50.24 49.76  0.00
137.596 0.000 0.000 137.596 0.00 0.00 100.00

5,983.225 3,681.800 2,138.670 162.755 61.54 35.74 2.72
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Non-NHS Pavements and Conditions

Asphalt 34.680 34.680 0.000 0.000 100.00 0.0 0.0 97.13

Asphalt 20,756.27 13,796.40 5,713.75 1,246.12 66.47 27.53 6.00 85.03

Asphalt  121,543.62 79,861.28 27,231.10 14,451.24 65.71 22.40 11.89 82.34

JCP 0.154 0.154 0 0 100 0 0 93.60

JCP 94.60 55.829 30.32 8.451 59.02 32.05 8.93 81.58
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Gap Analysis was conducted by
repeatedly querying the PMS and
running various funding scenarios.
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Traditional Gap Analysis
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Can break this traditional Gap
Analysis down by system.

i




